



Naam: _____

Datum: _____ Score: _____

$$\left(\frac{3}{5}\right)^{(-1)} + \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{6}\right)^{(-1)} - \frac{3}{4} =$$

$$\left(\frac{1}{6}\right)^{(-2)} + \frac{1}{5} =$$

$$\left(-\frac{3}{4}\right)^{(-1)} + \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{2}\right)^{(-1)} - \frac{1}{3} =$$

$$\left(-\frac{1}{3}\right)^{(-1)} - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{4}\right)^{(-2)} - \frac{2}{5} =$$

$$\left(-\frac{1}{6}\right)^{(-2)} - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{2}\right)^2 - \frac{3}{4} =$$

$$\left(-\frac{2}{5}\right)^{(-1)} - \frac{1}{2} =$$

$$\left(-\frac{3}{5}\right)^{(-1)} - \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{6}\right)^{(-1)} - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{2}\right)^2 - \frac{1}{6} =$$

$$\left(\frac{2}{5}\right)^2 - \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{2}\right) - \frac{1}{2} =$$

$$\left(\frac{2}{5}\right)^2 + \frac{1}{2} =$$

$$\left(-\frac{3}{5}\right)^{(-1)} + \frac{2}{5} =$$

$$\left(-\frac{3}{4}\right)^{(-1)} + \left(-\frac{1}{6}\right) =$$

$$\left(\frac{2}{5}\right)^2 + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{4}\right)^{(-1)} - \frac{3}{5} =$$



Naam: _____

Datum: _____ Score: _____

$$\left(\frac{3}{5}\right)^{(-1)} + \left(-\frac{3}{5}\right) = \frac{16}{15} = 1\frac{1}{15}$$

$$\left(-\frac{1}{6}\right)^{(-1)} - \frac{3}{4} = \left(-\frac{27}{4}\right) = \left(-6\frac{3}{4}\right)$$

$$\left(\frac{1}{6}\right)^{(-2)} + \frac{1}{5} = \frac{181}{5} = 36\frac{1}{5}$$

$$\left(-\frac{3}{4}\right)^{(-1)} + \left(-\frac{3}{4}\right) = \left(-\frac{25}{12}\right) = \left(-2\frac{1}{12}\right)$$

$$\left(\frac{1}{2}\right)^{(-1)} - \frac{1}{3} = \frac{5}{3} = 1\frac{2}{3}$$

$$\left(-\frac{1}{3}\right)^{(-1)} - \left(-\frac{1}{2}\right) = \left(-\frac{5}{2}\right) = \left(-2\frac{1}{2}\right)$$

$$\left(\frac{1}{4}\right)^{(-2)} - \frac{2}{5} = \frac{78}{5} = 15\frac{3}{5}$$

$$\left(-\frac{1}{6}\right)^{(-2)} - \left(-\frac{1}{2}\right) = \frac{73}{2} = 36\frac{1}{2}$$

$$\left(-\frac{1}{2}\right)^2 - \frac{3}{4} = \left(-\frac{1}{2}\right)$$

$$\left(-\frac{2}{5}\right)^{(-1)} - \frac{1}{2} = (-3)$$

$$\left(-\frac{3}{5}\right)^{(-1)} - \left(-\frac{1}{3}\right) = \left(-\frac{4}{3}\right) = \left(-1\frac{1}{3}\right)$$

$$\left(\frac{1}{6}\right)^{(-1)} - \left(-\frac{3}{4}\right) = \frac{27}{4} = 6\frac{3}{4}$$

$$\left(-\frac{1}{2}\right)^2 - \frac{1}{6} = \frac{1}{12}$$

$$\left(\frac{2}{5}\right)^2 - \left(-\frac{2}{5}\right) = \frac{14}{25}$$

$$\left(-\frac{1}{2}\right) - \frac{1}{2} = (-1)$$

$$\left(\frac{2}{5}\right)^2 + \frac{1}{2} = \frac{33}{50}$$

$$\left(-\frac{3}{5}\right)^{(-1)} + \frac{2}{5} = \left(-\frac{19}{15}\right) = \left(-1\frac{4}{15}\right)$$

$$\left(-\frac{3}{4}\right)^{(-1)} + \left(-\frac{1}{6}\right) = \left(-\frac{3}{2}\right) = \left(-1\frac{1}{2}\right)$$

$$\left(\frac{2}{5}\right)^2 + \left(-\frac{2}{5}\right) = \left(-\frac{6}{25}\right)$$

$$\left(\frac{1}{4}\right)^{(-1)} - \frac{3}{5} = \frac{17}{5} = 3\frac{2}{5}$$